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W E B0 i + B AE N+ F m T M
H H E 1 Wy [ n #i WHy [ n 1 WHy [ n 1 WH [ n
i p H 7.2 ~7.3 7.3 2 7.1 ~7.2 7.2 2 8.1 ~ 8.6 8.4 2 7.3 ~1.8 7.6 2
ﬁ D O 2.8 ~4.4 3.6 2 4.8 ~6.4 5.6 2 12 ~ 16 14 2 5.9 ~6.0 6.0 2
if;*j COD 4.6 ~ 8.8 6.7 2 3.2 ~1.8 5.b 2 9.2 ~9.6 9.4 2 4.0 ~4.4 4.2 2
IH S S 6 ~11 8.5 2 13 ~ 15 14 2 13 ~17 15 2 7T ~9 8 2
H h—~® i <0.5 * 1 <0.5 * 1 <0.5 * 1 <0.5 * 1
T ND * 1 ND * 1 ND * 1 ND * 1
7L L KGR ND * 1 ND * 1 ND * 1 ND * 1
FIRIT L <0.001 3 1 <0.001 % 1 <0.001 % 1 <0.001 % 1
&h <0.005 3 1 <0.005 % 1 <0.005 % 1 <0.005 % 1
fit AYITZA= N <0.005 3 1 <0.005 % 1 <0.005 % 1 <0.005 % 1
% filts= <0.001 3 1 <0.001 % 1 0.001 % 1 <0.001 % 1
é\ KK R <0.0005 3 1 <0.0005 % 1 <0.0005 % 1 <0.0005 % 1
il % <0.002 3 1 <0.002 % 1 <0.002 % 1 <0.002 * 1
mtkac pommitias) (0,13 ~ 0.69 0.41 | 210.23 ~0.79 | 0.51 | 2 0.01 ~0.08 0.05 [ 2] 041 ~0.53 1047 | 2
BINTE <0.1 * 1 0.1 * 1 0.5 * 1 0.1 * 1
ESES 0.1 * 1 0.2 * 1 0.7 * 1 0.1 * 1
i <0.002 % 1 <0.002 % 1 <0.002 % 1 <0.002 * 1
I il 0.005 3 1 0.006 % 1 <0.002 % 1 0.006 * 1
Tk T E gk 0.092 3 1 0.38 % 1 0.10 % 1 0.091 * 1
H | st~ A7 0.075 % 1 0.33 % 1 0.28 * 1 0.058 * 1
H /AN <0.005 % 1 <0.005 % 1 <0.005 * 1 <0.005 * 1
7x/)— VA <0.02 % 1 <0.02 % 1 <0.02 * 1 <0.02 * 1
- B e 0.067 ~ 0.36 0.21 | 2 10.025 ~0.050 {0.038 | 2| 0.078 ~0.31 0.19 | 2 10.049 ~ 1.0 0.53 | 2
% TUESTHEZESR | 0.79 ~ 1.0 090 | 21 0.19 ~0.31 0.25 | 2| <0.01 ~0.13 007 [ 2] 021 ~0.22 10.22 | 2
He RIS 0.10 ~0.63 0.37 | 2 0.21 ~0.73 | 0.47 | 2 0.01 ~0.05 003 2] 039 ~0.50 1045 | 2
MAEFRIEZE SR | 0.03 ~ 0.06 0.05 | 2] 0.02~0.06 [0.04 | 2| <0.01 ~0.03 0.02 [ 2] 0.02~0.031]10.03 12
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P E AL B AE WA T W

H H X 43 ) V¥ [ n ) ¥y [ n
E p H 7.4 ~ 8.8 8.1 | 2| 81~84 8.3 | 2
ﬁ D O 7.0 ~ 11 9.0 | 2| 6.7~09.0 79 |2
?;*—; COD 4.0 ~5.9 50 | 2| 6.8 ~9.6 8.2 |2
If S 'S 6 ~ 13 10 |2 16 ~ 37 27 | 2
H h—~*roamtimy <0.5 * 1 <0.5 * 1
T ND * 1 ND * 1
TV LK ER ND * 1 ND * 1
BRI L <0.001 x| 1 <0.001 x| 1
% <0.005 x| 1 <0.005 x| 1
P NTVI=IN <0.005 ¥ | 1 <0.005 ¥ | 1
’f;f it <0.001 x| 1 <0.001 x| 1
A Mk <0.0005 x |1 <0.0005 x |1
YL <0.002 x| 1 <0.002 x| 1
s rommmax| <0.01 ~ 0.01 | 0.01 | 2 1<0.01 ~0.02 |0.01 | 2
BT 0.1 * 1 0.2 * 1
ESES <0.1 x| 1 0.6 x| 1
4 <0.002 x| 1 <0.002 x| 1
P g <0.002 x| 1 <0.002 x| 1
B | ASRIESK 0.052 x| 1 0.13 x| 1
I | wsfigite <~ 7 0.32 x |1 0.16 x |1
H mras <0.005 % |1 <0.005 % |1
Tx)— L <0.02 x| 1 <0.02 x| 1
| dEmRRERE  ]0.005 ~0.072 0.039 | 2 [0.060 ~0.14 |0.10 | 2
% TUESTHEZEFE [<0.01 ~0.16 | 0.08 | 2 <0.01 <0.01] 2
j | fEERREZER [<€0.01 ~0.01 [0.01 | 2[<0.01 ~0.02 [0.01 |2
i iR HE 22 4 <0.01 <0.01] 2 <0.01 <0.01] 2
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